Question 2]

wn. (A
answered

Marked out of
]

¥ :
question |

Above is the project network for the Project X. Name all the activities that are parallel
with Activity F (write the result in the space provided below).

1 A~ B I = = S S G



Question 27/ An activity that has more than one dependency arrow flowing into it is termed o(n)

Not yet

answered Select one:

® a.Merge o@ivity

Marked out of
]

" Flag ~ b. Parallel activity
question

c. Critical path

d. Burst activity



Question 23

Not yet
answered

Marked out of
]

V" Flag
question

00

N

Above is the project network for the Project X. What is the value of Free Slack for
Activity B (write the result in the space provided below)?



Question 10 A software development company is using “Function point method” to estimate the

Not yet time and cost of the project. The company will assign 4 people to work on the project.
answered Each person earns $650/month. Each person can do 5 function points/month. If the
Marked out of estimated total function point count is 310, calculate the estimated project

] duration (write the result in the space provided below).

" Flag I

question

1 A~ B I = = % 5 [



In which of the following stages is it determined what the project will entail,

hen it will be scheduled, whom it will benefit, and what the budget will bef

Select one:
a. Conceptualizing

b. Defining
c. Planning
d. Executing

e. Delivering



Question 24 Information to develop a project network is collected from the:

Not yet

answered Select one:

Marked out of
]

a. Work breakdown structure %

" Flag ~ b.Budget

question

C. Project proposal

d. Responsibility matrix



Question 22

Not yet
answered

Marked out of
]

" Flag
question

Above is the project network for the Project X. What is the value of Total Slack for
Activity D (write the result in the space provided below)?



Question 6

Not yet
answered

Marked out of
]

" Flag
question

hich of the following activities is not considered a project?

Select one:
a. Developing a new software program

b. Designing a space station
c. Preparing the site for the Olympic Games
d. Production[gf automobile tires

- e. Developing a new advertising program



Question ]2

Not yet
answered

Marked out of
]

" Flag
question

Which of the following is a good condition for top-down estimating?

Select one:

a. Cost and time important
_ b. Fixed price contract
c. Customer wants details

d. Internal, small project



Question 17

Not yet
answered

Marked out of
]

" Flag
question

he approach that begins with a top-down estimate for the project and then

refines estimates as the project is implemented is known ef

Select one:
a. Function point

- b. Template
C. Learning curve

d. Phase estimating



Question ]9

Not yet
answered

Marked out of
]

\ Flag
question

=
— ,
T
-
DN
N

SEUE
T
BOE

Above is the project network for the Project X. Calculate the value of LS for Activity B
(write the result in the space provided below).




Question ]4

Not yet
answered

Marked out of
]

" Flag
question

Ed is looking over the actual results of projects and comparing them to what
as estimated. He notices that projects that took six months or longer to

omplete were noticeably more off the estimates. Which of the following factors
IS he recognizing?

Select one:

a. Padding estimates
b. Planning horizon

Cc. Project structure



Question 18 estimates are most likely to use low cost, efficient methods.

Not yet

ol Select one:

Marked out of ;

] a. Apportion

¥ Flag  b.Ratio

question [}

C. Top-down

d. Bottom-up



Question 29

Not yet
answered

Marked out of
]

" Flag
question

he forward pass in project network calculations determines the

Select one:
a. Earliest time's activities can begin and finish

b. Latest time's activities can begin and finish

c. Critical path

~N Ar~ntiviithv elmAaly i



Question 9 _ _
For a construction project:

Not yet
answered - Labor hourly rate: $22/hr
Marked out of - Hours needed: 13
1
- Labor direct overhead rate: 15%
" Flag
question Calcilote the direct overhead cost of labor for the project team member (write the

result in the space provided below).

1| |AY B | T | &= E|| % ||| e



Question ]3

Not yet
answered

Marked out of
]

" Flag
question

Which of the following is not one of the factors that need to be considered to
Improve quality of estimates for project times and costs?

Select one:

a. Planning horizon
b. People
c. Padding estimates

d. Profit

~ DrAaimamst ctriimntiira




"'

Question 20

Not yet
answered

Marked out of
1

" Flag
question

Above is the project network for the Project X. Calculate the value of EF for Activity D
(write the result in the space provided below).

N
% & @

1 A~ B 1



Question ]5

Not yet
answered

Marked out of
]

" Flag
question

ompanies like Boeing, Kodak, and IBM are using which of the following for

Improving the estimating process?

Select one:
a. Adjusting estimates based on individual forecasting abillities

- b. Benchmarking using the experience of other companies
c. Using time and motion studies

d. Creating historical databases of previous projects



Question ]6

Not yet
answered

Marked out of
]

" Flag
question

In practice, estimating processes are frequently classified as:

Select one:
a. Top do%n/ pbottom up

b. Rough/polished
c. Precise/order of magnitude

d. Draft/final



¥

Question "

Not yet
answered

Marked out of
]

" Flag
question

Hoect
Cost: $450.000
General Roadway
30 % 70%
Move 1n Suparvise Clanvp Earthwork Paving
3% 15% 10% 30% 40%

Above is a project WBS with cost apportioned by percent. If the total project cost is
estimated to be $ 450,000, what is the estimated costs for the (Poving) deliverable
(write the repult in the space provided below).



Question 25

Not yet
answered

Marked out of
]

" Flag
question

hich of the following represents an activity on an AON project network?

Select one;
a. A node

b. An Arrow

c. Aline



Question 8 Give an example of a project in which performance is constrained (write it in the

Not yet space provided below).
answered

Marked out of

1 1| |A B | I | =i % | SS | | G

" Flag
question



Question 26

Not yet
answered

Marked out of
]

V" Flag
question

On a project network, the aci%is timesIcre derived from the:

Select one:
a. Work packages

b. Organization breakdown structure
C. Budget

d. Project proposal



Question 28

Not yet
answered

Marked out of
]

" Flag
question

The critical path In a project network is the:

Select one:

a. Longest path through the network
p. Shortest path through the network
c. Network path with the most difficult activities

d. Network path using the most resources



-

Question 30 The amount of time an activity can be delayed and yet not delay the project is
Not yet termed:
answered
Marked out of Select one:
1
le] a. Total slack
V" Flag
question

b. Free slack
c. Critical float
d. Float pad

e. Slip pad



Question 7

Not yet
answered

Marked out of
]

V" Flag
question

In which of the following stages is a major portion of the physical and mental
project work performed?

Select one:

a. Conceptualizing
b. Defining
c. Planning

[e] d. Executing

e. Delivering

Clear my choice
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Select one:

‘®  a. The completion date
b. Project quality
c. The budget

Question 2
Not yet answered

Marked out of 1

V¥ Flag question

If resources are not adequate to meet
peak demands, the resulting reschedule
Is termed:

Select one:

a. Time-constrained scheduling

® p Resource-constrained
scheduling

c. Mandatory leveling

d. Project resource adjustment

Question 3

MNot yet answered

Marked out of 1

—

1 O <
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e. Quality, resource

Question 3

Not yet answered
Marked out of 1

V" Flag question

In reviewing the status of her project
with top management, Shirley was told
that there only were two programmers
that she could use for her project. Her
project is constrained.

Select one;

a. ime

b. Quality

c. Performance
®  d. Resource

e. Cost

Question 9

Not yet answered

Marked out of 1

1 O <
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Marked out of 1

¥ Flag question

When developing a new software
package, the software must be
designed, the code must be written, and
the code must be tested. This is an
exampleofa____ constraint.

Select one:

a. lime

b. Physical

c. Schedule

d. Technical

e. Resource

Quiz navigation

1 O <
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Select one:

a. Quality, cost

b. Cost, time

c. Time, quality
®  d.Time, resource

e. Quality, resource

Question 3

Not yet answered
Marked out of 1

V" Flag question

In reviewing the status of her project
with top management, Shirley was told
that there only were two programmers
that she could use for her project. Her
project is constrained.

Select one:

a. [Ime
b. Quality
c. Performance

d. Resource

1 O <
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PROJECT MANAGEMENT Topic 6

Quiz 5

Question 1

Not yet answered
Marked out of 1

V" Flag question

In a resource-constrained project, which
of the following is most likely to be
changed?

Select one:

® a3 The completion date
b. Project quality
c. The budget

Question 2

Not yet answered
Marked out of 1

" Flag question

11 O <
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Question 4

Not yet answered
Marked out of 1

V" Flag question

Which of the following is not one of the
types of project constraints?

Select one:

a. Time

b. Resource

c. Technical

d. Physical

e. All of these are types of project
constraints

Question 5

Not yet answered
Marked out of 1

V" Flag question

All resource leveling techniques
involve:

Select one:

1 O <
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Not yet answered
Marked out of 1

V" Flag question

If resources are not adequate to meet
peak demands, the resulting reschedule
Is termed:

Select one:

a. Time-constrained scheduling

'®  b. Resource-constrained
scheduling

c. Mandatory leveling

) d. Project resource adjustment

Question 3

Not yet answered
Marked out of 1

V" Flag question

Delaying noncritical activities to lower
peak demand on resources is known as
resource:

Select one:

a. Effectiveness

1 O <



Given the following information in the Table below:

Activity ID !Actiuity predecessor Time |

) T BT li Ee
1 | None 2
T T T
Binire T -

work. Complete the forwc
What is the value of (LS) for activity A, B, C, and D?

On a sépnrmte Paper, draw a project net

(write the result in the space provided below)
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B LUeXams.com

AClivity ID |Activity predecessor Time Number of

tractors
(Resource)
A None 2 3
B None 2 3
K A B | L

Three tractors are available for the project. Develop a resource schedu

Jse the parallel method and the following heuristics:

Minimum slack
smallest duration
Lowest identification number

(write the result in the space provided below)

Activity tard Finish

(After Scheduling) ( After scheduling)




2n the following information in the Table below:

:_tiuity ID |Activity predecessor Time

ey S R
i .

E —
S P

Q separate paper, draw a prc:-jett network. Complete the forward anc
What is the value of (Total slack) for activity D?
What is the value of (Free slack) for activity B?

fite the result in the space provided below)

1 Avil B T =

||
e
39
(§

S — — — . ——— e ———
(Total slack) for activity D 20
(Free slack) for activity B 0




For a project, the expected project duration (T¢) is 120 and the sum of variances for the critical path
activities is 25

a) Whatis the probability that the project will be completed before a scheduled time (T¢) of 125?

b) Whatis the probability that the project will be completed after a scheduled time (Ts) of 182
(write the result in the space provided below)
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Given the following information in the Table below:

Activity ID |Activity predecessor Time |
i R R .i!
B None e |
S A A |]

D B 10 =I

s

On a separate paper, draw a project network. Complete the f

What is the value of (LS) for activity A, B, C, and D?

(write the result in the space provided below)
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. ci)' What is the probability that the _.prajéi
b) Whatis the Probability that

the projec
(write the I'ESUI': in the space provided belo
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Given the following project data:

Activity Direct cost

| Normal | Crasn

|

Time ICost ‘-I'iimﬁ ICost
|
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B s B0 I3
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SR

What is the slope for activity A?

b)  What is the maxir

(write the result in th

%

um crasntime 1or actvity



For a project, the expected project
duration (T¢) is 120 and the sum of
variances for the critical path
activities is 25

a) What is the probability that
the project will be completed

before a scheduled time (Ts) of
1287

b) Whatis the probability that
the project will be completed after
a scheduled time (T<) of 1162

(write the result in the space
provided below)
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following heuristics: i i ;_;;_‘T '3‘
- Minimum slack | LS
- Smallest duration

- Lowest identification number

(write the result in the space provided below) N

% S a

Activity Start Finish
(After Scheduling)  (After Scheduling)
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Given the foﬂowmg pr 0}@[31 data.

e fime in work days
| ‘.kii:tiwityilf'redeceSSDr-Optimigtic:MostiPessimlst
| 'Iikely!|
A None 2 | 5 | [
| asmovess sl
c 1 2 4 | [
D | .BC __'lj__ 4. ez | .

Use the ?’EET_téc: hnigqu e_tgf“—“ swer

the following:

. Compute the expected time for
(activity B).

2. Compute the variance for
activity C).

(
(write the result in the space
provided below)







Given the following information in the risk assessment form below:

Risk event [ Likelihood Impact ‘Detection clr'ffir::ulty i

Machine malfunction | 4 4 T e et
Worker absence 0 Z 3

Bad weather ¥ i 2 z ;
Material defect 2 5 -

What is risk value for the risk event (Material defect)?

(write the result in the space provided below)

p ! A - 1BEe] ‘s = Iy + S 2

- - Sg— x - - — -

.




about a project

Activity D] Activity | Time
predecessor
i TR None i
R None s
C I A, B |

P T e TR

P o gL L LI S | TR
B 25 25 5
—— —— LEl
C 30 '_ @
P | LF @B CARA | | A G S
Develop the baseline budget tor

the project

(write the result in the space
orovided below)
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LrisEstion 2
Not yat answered
Marked out of 12

Flog question

Given the following project dota
draw an AON network for the
project. Use the PERT technique to

s s s = b o bo BRI __ BN L BN o o LR o oo ol o ol o a e e
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Given the following information in the Table below:

| ID | Duration Finish-to-Start | | inish-to-Start | Additional rel'crliun:;hips “_h':r'g [
| predecessol lag
A AT None | 0 | Start-to-Start A to B ;
B | 3 None 0 Finish-to-finish Bto C 0
Gl 5 | A | 0 | None i
D | 20 | B - 0 None [0

On a separate paper, draw a project network. Complete the forward and backward pc
What is the value of (LS) for activity A, B, C, and D?

(wr}le the result in the space provided below)




. - s
__“". =l T = . 5 i i ry i == =1 = - ....\,L_ 1 b .:l |~ = o 2
=3 = 1 a |
e = - - - wt WY il bt el ~ el & S Rl s R
[ s = ™ R = = e T s - -
e, ' | — [ [ o
. W - - ¥ B o Nl b it el Tl il S
a i P—— y =
& { [ |
L Y -
= . 3 i
= falmT= =
e o -
o — T
E |
- st i Tt
P ==
—_ =
- - &
I,—l-u..-- r—‘ c-—r\-\,.d--qr—qf': r\l_l—h_t-\.\.r P el IV ] o
Mt hll] i = Nl | Nl N L-\_l W |

Yy
il | LAWY A L -

project network. Complete
Dackward pass

1 i = & -
yaiue of (Total

,

L

lack) for activity D?
D) What ree slack) for activity B?

(write the result in the space provided below)

| i o e—
i —— .]', L
B i —

) 3 ||

1 a0 . Bad =

\ lotal slack) for activity D

slack) for activity B

the forward and



| Question 2

Not yet
answered

Marked out of

4

v Flag
question

] Time left 0:38:12

Given the following

information in the Table below:

ID | Duration | Finish-to-Start Finish-to-Start | Additional relationships lag |
predecessor lag (i
A 9 None 0 Start-to-Start Ato B8 | 5
_ B | | 3 None i G ] Finfsh—tn—finjshﬁ toC [I T Finish anﬁﬁ-:j
o : 5 | . ﬂ._ : : 1 ___D £ =i Ll || __';[D_r._‘_e |l il 0 | _
= 0 _ - SRR R ____||_-.. i i
On a separate p;::!per, draw ﬂ.ﬁrojleu:

t network. Complete the forward and backward pass.
What is the value of (LS) for activity A, B, C. and D?

(write the result in the space provided below)




e tollowing information in the risk assessment form below:

Risk event Likelihood | Impact | Detection diffic I._i.'T';f'

wne malfunction 4 fi J |
orker absence 5 9 .!
|

Bad wedthe!

Material defect
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Given the following project data :

Time in work days 1

-,Activityi’red ecessorOptimisticiMost PessimisticjActivityvaria m:ﬂ

likely time |

(to) _

A None 8 | 27 30 26 4l

B A 30 30 30 30 0

e A 60 72 90 73 25

D A 16 19 28 20 4 f:)l

LE B,C,D 17 29 47 30 25

Use the PERT technique to answer ,'
the following:

What is'the expectedﬂrprnject ; ! f

duration (Tg)? ) “J f*

(write the result in the space










Not yet answered
Marked out of 2

v Flag question

One of the major risks identified for
a project is getting material with
defects. Suggest an action that you

will take as a project manager if

your response to this risk Is
avoiding.




T Final Exam (page 6 of 13) b Liest bank with_snzeers |

en the mllnwinq project data

| | ‘ me in work 'l.':|l.'l."""' i

ActivilyPredeces SI.H'I'._.'IFIT.IITII"IH.. Most [Pessimistic. Activity time () Varnance
likely

Jse the PERT technique 1O answer 1r e FollowWing

vhat is the expected project duration (Te)?

write the result in the space provided below )
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Given the following information in the risk assessment form below:

Risk event Likelihood | Impact | Detection difficulty
Machine malfunction| 4 | 4 | g
SioiercESanca e o e
Bad weather | 3 5 S

I Material defect. 17" i = e

What is risk value for the risk event (ﬁarker ﬁibseﬁce)?

(write the result in the space provided below)

Risk value 30
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Given the following information in the Table below:

Aﬁuﬁ

ID_A::tiv'rty preﬁe@sﬁq Time—’

None ID_|

NOone

i AB

t

Ona Ei{f.‘['_'l'f.lllf][‘E'-f' Paper, n:_'ir{.l'.-'-.'_n ]"l_rs Zl|l._-"!{?1_ nen‘-.u_ k. Complete the forwar | and bockword BINLEE
a) Whatis the value of (Total slac k) for activity D?
b) Whatis the value of (Free slack) for activit B?
'::'.xl Ite the result in the =pace provided below

$ % - & . ( )
T‘J:h:‘:{"i‘k}'hah‘;}“xi}






 Risk event mﬂeﬁhﬁ_nd_ I_Tmfjdr:itT _eréc:_m_n Ew_ﬁcat; |
Machine malfunction | 4 _:_ 7 ';L e g e
Worker absence 5 AT || 3
 Bad weather RS |!_9__'||___§_ VoL
Material defect 2 |i 5] |I =

What is risk value tor the risk event (Material defect)?

(write the result in the Space provided below)
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D) VWNALIS NC PIUUJIILY LEHAL
the project will be'completed after

a scheduled time (Ts) of 1162

(write the résult in the space
provided below)

+ A~ | B& 1 = | 2=
% | S || &
a)




Given the following project data

Time in work duvs |

I

None | |l el

il likely

HE A -

il

ActlwtyFredacessurﬂptlmlstlc; Most Pessum|stuc| Activity time

(te)
20

variance

A (e

= — ———

NGt

30
/3

25

OO | >

Use the PERT technique to answer the follc:wmg i t

AT e
E Bco il 1?“?*

2?

What is the expected project duration (TE)'-’

(write the result in the space provided belaw);.él W

| Expe'c':fécl project duration (T¢)

A | B | I |i= &=

e g eay

g
M

26
30
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Given the following project data.

Time in work days |
_Activity EPréﬁessu-riEptimEtic  Most | Pessimistic
likely
A Nohe | 4 A e
= e ST .|
ST Y Y e
B S TR 7~ & e - e
— —
Use the PERT technique to answer the following:
l.  Compute the expected time for (activity B).
2. Compute the variance for (activity C)
(write the result in the space provided below)
I = 1=l % (55l Ea
Expected time for (activity B) 4

Variance for (activity C) T
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